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1. Three of the following four are alike in a certain way and so form a group. Which is
the one that does not belong to that group?

A. Molehills

B. Shivalik Hills
C. Satpura Hills
D. Aravalli Hills

Answer — A. Molehills
Explanation: Remaining hills are located in India

2. Three of the following four are alike in a certain way and so form a group. Which is
the one that does not belong to that group?

A. Groundnut
B. Cumin

C. Cinnamon
D. Pepper

Answer — A. Groundnut
Explanation: Remaining all are spices

3. Three of the following four are alike in a certain way and so form a group. Which is
the one that does not belong to that group?

A. Shesnaag lake
B. Wular lake

C. Dal lake

D. Sambhar lake

Answer — D. Sambhar lake
Explanation: Remaining all the lakes are located in J& K

4. Sikkim: Gangtok:: Manipur: ?
A. Shillong

B. Imphal

C. Dispur

D. Mumbai
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Answer - B. Imphal
Explanation: Second is the capital of first.

5. Annihilation: Fire:: Cataclysm?

A. Earthquake
B. Steam
C. Flood
D. Emergency

Answer - C. Flood
Explanation: First is the result of the second.
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1. Dog :Kennel :: Rabbit : ?

A. Forests
B. Burrow
C. Den

D. Cactus

Answer — B. Burrow

Explanation:

The dog lives in Kennel

Rabbit lives in underground burrows

2. Carbon : Diamond :: Corundum : ?

A. Pearl
B. Pukhraj
C. Ruby
D. Garnet

Answer - C. Ruby
Explanation: Second is the form of first

3. Psychology: Mind::? : Birds
A. Onomatology

B. Ology

C. Ornithology
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D. Neuropsychology

Answer — C. Ornithology
Explanation:

Psychology study of Mind
Ornithology study of Birds

4. Choose the odd one

A. 136
B. 141
C. 187
D. 238

Answer - B. 141
Explanation: Except 141 all are divisible by 17

5. Choose the odd one

A. 64
B. 343
C. 441
D. 1331

Answer - C. 441
Explanation: Except 441 all are perfect cubes





